EAST POINT SCHOOL
CLASS- VI

STUDY MATERIAL

Practice Assignment — 3
Class - 6
Topic : Adverbs and its type

DIRECTIONS for questions 1 - 8: Choose a verb (Box A) + an adverb
(Box B) to complete the sentences

A come know sleep win
explain listen think work
B carefully clearly hard well
carefully easily quickly well

1. I'm going to tell you something very important, so please

Ann! | need your help. !

They . At the end of the day they’re always tired.
I'm tired this morning. | didn’t last night.
You're a much better tennis player than me. When we play, you
always
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before you answer the question.
7. I've met Alice a few times but | don’t her very

8. Our teacher isn’t very good. Sometimes he doesn’t

things very




DIRECTIONS for questions 9 — 16: Rewrite the sentences by using the
adverbs given in the bracket.

9. He isknown outside India.( little)

10. He works hard all day.( hard)

11. You can guess.( only)

12. She sings enough.( well)

13. He knows me than you.( better)
14. | came this morning.( early)

15. He invited me to visit him. ( often)
16. The train has left. (just)

Maths Worksheet

https://youtu.be/N66KAYP7Zb0

Activity

To arrange the whole numbers in any of the shapes using dots
e Every number can be arranged as a line;

The number 2 is shown as @&

The number the number 3 @& &

And so on.

Write any two number that can be arranged as a line. Also show the
arrangements of dots.

e Some numbers can also be shown as rectangles.
For example,

The number 6 can be shown as @& &


https://youtu.be/N66KAyP7Zb0

A rectangle. Note there are 2 @&&
rows 3 columns.
e Some numbers like 4 and 9 can also be arranged as square.
Arrange the dots to show a rectangle.
Solve the following questions

1.A taxi driver filled his car petrol tank with 40 | of petrol on Monday. The next
day he filled the tank with 50 litres of petrol. If the petrol costs Rs 44 per litre.
How much did he spend in all?

2.A vendor supplies 32 litres of milk to a hotel in the morning and 68 litres of milk
in the evening. If the milk costs Rs 15 per litre, how much money is due to the
vendor per day?

3.1f product of two whole numbers is zero, can we say that one or both of them
will be zero? Justify through examples.

Solution-When one number is zero in multiplication, then

When both numbers are zero then 0x 0 =

4.1f the product of two whole numbers is 1,can we say one or both of them will be
1.Justify through examples.

5. Find out which of the following will not represent zero
a.1+0=__
b.0x0=__
c.0/2=__

d. (10 - 10)



-The food contains some components which are needed for our body. These
components are called nutrients. The major nutrients in our body are:

« Carbohydrates

. Fats
« Proteins
. Vitamins

« Minerals

-Besides major nutrients, food also contains dietary fibres and water.

Nutrient Function
Carbohydrates | Carbohydrates mainly provide energy to our body.
Fats Extra energy is stored in the form of fats. Fats along
with Carbohydrates are called Energy giving foods.
Proteins Proteins are needed for the growth and repair of our
body. They are also called Body building foods.
Vitamins Vitamins help in protecting our body against diseases.
Vitamins also help in keeping our eyes, bones, teeth
and gums healthy.
Minerals Minerals are essential to ensure the proper growth of
the body. Minerals along with vitamins are called
Protective foods.
Nutrient Test for the nutrient Result
Carbohydrates Small quantity of food item + 2- | Blue black colour
(Starch) 3 drops of iodine solution confirms the
presence of
starch
Proteins Mashed food item + 10 drops of | Violet colour
water + 2 drops of copper confirms the
sulphate + 10 drops of caustic | presence of
soda proteins
Fats Wrap a small quantity of the | An oily patch on
food item in a piece of paper | the paper
and crush confirms the




presence of fats

Test your leaning:

Question 1: What are nutrients? What all nutrients are required by the
human body?

Question 2: List the functions of the nutrients required by the human
body.

Question 3: What are protective foods? Why are they called so?

Question 4: How will you test the presence of carbohydrates in a given
food item?

Activity:
Test the presence of fat in the next breakfast cooked at your home.
SUBJECT- SST
TOPIC: THE EARTH IN THE SOLAR SYSTEM
http://youtu.be/f4ZHdzI6ZWg

http://youtu.be/YpnPgk2aH94

PHASES OF THE MOON

The moon’s shape appears to change as it moves around our planet. The changing
shapes of the moon are known as it phases. These depend on the amount of sun’s
light the moon reflects to the earth. Sometimes during the revolution, the moon
comes between the earth and the sun. As a result, the part of the moon which faces
the earth is in complete darkness. On such nights, we cannot see the moon. Such a
moon is called the new moon or Amavasya. Once a month, we can see the entire
moon from the earth. Such a night is known as a full moon night or poornima.


http://youtu.be/f4ZHdzl6ZWg
http://youtu.be/YpnPgk2aH94
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ASTEROID

Asteroid are tiny celestial bodies which move around the sun. They lie between the
orbits of Mars and Jupiter. Asteroid are believed to be parts of a planet which
exploded many years ago. They are also known as planetoids.

METEOROIDS

Meteoroids are small pieces rocks that revolve around the sun. When meteoroids
enter the Earth’s atmosphere, they get heated up because of friction with the air.
This causes them to burn with a flash of light. That causes them to burn with a
flash of light. That is why they are also called shooting stars or meteors.
Sometimes, meteors do not burn completely and fall on the earth’s surface to
create a large hollow or crater. Such fragments of rock or metal that fall on the
earth are called meteorites.
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COMETS

Comets are celestial objects comprising ice, gases, rocks, and dust. They move
around the sun. When they come close to the sun, they begin to glow and form a
long, shiny tail. Comets usually appear in the sky after long intervals. The most

famous comet is Halley’s Comet. It appears every 76 years. It was last seen in
1986.

INDIA’S SPACE PROGRAMME

India’s space programme began in 1975 with the launching of Aryabhatta, the first
Indian satellite, into space with the help of Russia. Then two other satellites,
namely Bhaskar | and Bhaskar 11, were sent into space in 1979 and 1981
respectively. After this, India with the help of INSAT- 1A and INSAT- 1B into
space in 1983.

The launching of INSAT- 2 series provided space service for tele - communication,
meteorological observation, T.V. broadcasting, disaster warning etc.

HOME ASSIGNMENT

I. Fill in the blanks:-



a) ___ comet appears after every 76 years.

b) The solar system is held together by a force called

¢) The study of celestial bodies and their movement is called
d) _ arethe largest celestial body in space.

e) A hugesystemofstarsiscalleda

Il. Choose the correct answer.

a) Name the natural satellite of the earth.

I. Moon Il. Mars 1i. Sun
b) The pole star indicates the direction to the
I. South Ii. North iii. East
c) Asteroids are found between the orbits of
I. Saturn and Jupiter Ii. Mars and Jupiter iii. The

Earth and Mars
d) The shape of the earth is

I. Geoid ii. Circular Iii. Rectangular
e) Ursa major is a
I. Star ii. Constellation lii. Galaxy

I11. Answer the following questions in one word or one sentence.

a) Define meteoroids.

b) Name first Indian satellite.

c) When do we observe new moon?

d) Name the fixed path around which the planets move around the sun.
e) Planets are stationary. True or false?

IV. Answer the following questions briefly.

a) Why moon does not have life on it?

b) Describe the asteroids, meteors and comet.
¢) Why do we see only one side of the moon?
d) Explain the two types of celestial bodies.
e) What role does a satellite play?

ACTIVITY



With the help of old newspapers, magazines, journals etc. collect information/
articles related to the space and frame your observation in a report.

OR

Make a list of all INSAT series satellites sent in space. Also mention the purpose
that they serve.

Link- https://youtu.be/RH30TSs2eqY
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https://youtu.be/RH30TSs2egY
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COMPUTER CH-1 INTRODUCTION TO COMPUTERS

Watch the video based on Characteristics of a computer-
https://www.youtube.com/watch?v=zkKpDNWDu |

NOTE: Write down these question-answers in your computer notebook or
on sheets as per your availability(neat & clean work).

MCQ:

Computers can process millions of instructions per second.
A computer is very Fast machine.

Generation means age group.

Al sands for Artificial Intelligence.

IC stands for Integrated Circuit.

Fifth generation computers behaves like human being.

o0k~ wWwNE

Short Answer Questions
1.Why do computers have no intelligence of its own?

Ans: Because it is a machine.lIt is the intelligence of the developer who have
made it.

2.Give one example of each generation of computers?

Generation Example
First ENIAC
Second IBM 700
Third IBM 360
Fourth IBM 4300
Fifth Robot

3.What are the characteristics of a computer?

Ans: Speed, Accuracy , Memory, Versatile & Diligence.
4.What are the limitation of a computer?

Ans:No intelligence of its own.

5.Write two difference between first generation and second generation of
computers?


https://www.youtube.com/watch?v=zkKpDNWDu_I

Ans: Smaller & faster as compared to first generation of computers.
6.Write full form of the following:

Al--Artificial Intelligence

IC-- Integrated Circuits

7.Which generation computers have limited commercial use?

Ans: First Generation of computers.

8.Which generation computers are intelligent like human being?

Ans: Fifth Generation of Computers



Class 6 Hindi Grammar
https://youtu.be/SeDqpTzIXUE - 0000, O0O00, 0000 OO

oot

Note- please refer to the above given link to study the chapter before
Answering the following assignment

N

HIS Siclchs 30 AT chl S<h ohedT g adT
JMaGehdl Ue- R dg fer@anx ot 791 &l a1d ot TWe
T &1 3 ST T HeT YR “WTHT BT &1 {THT 2065
VY YT & IHT1 8| 38T 3 g-atet11 A o
e} ohl FleTehe 3TUHT JTd hadl &, 3 HTNT chgd
gl

WNT I8 1 8, fo¥ch gRT A dieTehy, Gahe,
forEgehR g Ugeny 37104 A+ & W1at a1 faary &t 31reM
— Y& Rl g


https://youtu.be/SeDgpTzlXUE
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VR H 3k YUY dtell STTdt §; Sia-fadt, deepd,
USTelt, 3¢, eheHIRY, sTett, 3fSar, depry, srafaan, f&edt,
ORI, Siet, SR, AfYeht, darg, Tureft, AfogR,
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agfareredt o

1. YITST Shed &

(i) 9ITat & STETH-UGT o I i
(ii) fora= & &1 ol

(iii) ToOT & hY heT <l

(iv) 37 qoft ot

2. foIft shgd &1

(i) 9ITST & R[5 TN chl

(ii) HfR&ep 9TeT i

(iiil) T o fora=t Y fafer ot
(iv) 31 gt ot

3. TeTeh WTd Td IR eh thed dieil WTSTahl
hgd 87



4. forfa o &t 31l @

(i) ferftr opt THgrAT

(ii) faaRt &1 forfad =u

(iii) forddt o gHeT forge faaR &
(iv) faamrt ot Sier-atetans fergAr

5. f&&Y oo it It fohg e & g3?
(i) St

(ii) T
(iii) I,
(iv) H&pd

6. i & ferd=iT SIS anl AT=IdT Ut 8§
(i) s

(if) eI
(iil) IT8q
(iv) U=dig



8. 9TTNT <h &5 =Y hi hed &
(i) ferfa

(ii) TS
(iii) St

(iv) feramsm

V)

9. 9N o foIfd ®u e o forg fAuiRa g
hgelld &

(i) ferfera s

(ii) ITHTST
(iii) ferfor

(iv) Stett

V)

10. {THT T IZH §HT 8

(i) foraRY & SMYR WR

(ii) foIfr & SMUR WR

(iii) eafraf & YR R

(iv) STAGRAT3 ch TR TR

RN
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